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27. 9 di) SlaHi As $di ay B2Aell «ldLRS 817 (eild - OCI 51 A WIULE «i2ll) (Select one option)
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‘ NOTE : Answer the below question only if answer to( ( Q#27 is4: OR ¢&l))
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‘ NOTE : Answer the below question only if answer to( ( Q#27 is4: OR ¢&l))

29. ol dil A sdi ay g2ileil «ldLRSs ©), dl gul 530 AU wUE] YRUoleg 5.

30. gj dil duRl Ydetui ULl AHd @NidR 53§ 82 (Select one option)

O sl
O -u



‘ NOTE : Answer the below question only if answer to( ( Q#30 is+: OR ¢&l))

31. di AL HI2 @ANidR 532 (- uldAlEl Yul Bs 52)) [l 53 ayni ay 3 [Qsell uaie s3]

O odettel A (O ulbls, AHICss edl ASSIY eHel/ Aeetid
O G weuri/ Rlewl O wren sy
(O swsilay dsl O wnsle Riet 1a eifas

O oaeuiel/aa /1984 (] seu, MHell wedl qyeldefl «12s 8l HR

O we (Ul 5304 e )

32. 9 dHRL HIdLUAIRA su3Y @NidR 53 87 (Select one option)

O
O -u
O HAuvieR ]

‘ NOTE : Answer the below question only if answer to( ( Q#32is4: OR &l ))

33. duIRL HldllUdl 2t 4R @NidR 53 2112 (AL Uldalel yul Bs s20) [§ul s2la ayui dy 3 [dseil uie s20.]
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| NOTE : Answer the below question only if answer to( ( Q#34 is+: OR &l))
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‘ NOTE : Answer the below question only if answer to( ( Q#30 is 4k OR &l))
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39. dil w1 &35 NI dHIR] widlgua 3d] 2d e s:2dl?
HAd A yUNd  gHEA QA gadold Eddold Hud  §de oilg @, Ai g e

aefl UUY G ] diy g au g
(a) Aldl sl @) O @) O @)
(o) sizil @) @) O O @)
(c) uR¥l U @) @) (@) (@) O

Page 4 of 10 ——
%] i WIAAL YB U %l HIZ e 8], dl did 561 W2 sdiol elwd sil el ul 5309 Y U As 28l 53 wa drd i Adagil At i 3
dMa duIR wdiol 3dl 2a elwd sl A w8,

AUl el ugslefl Aig s2A
1] u1a ugdlefl Alg Avil" Yl Asedlula wikls Ad Yol addl qA Aluddl #1a uglell uisL widdl 2 9.

Asv Yo AA-A] (65 Uz (545 532 23 8
1) uddlell slwd 53d saioilefl Alail s weldl
2) Beal stell Aud s2ae] ulg Avil,



%ol Z Vol KlAleS ¥4

feidglel Z wal (G1les udaRni eld1 Adl ied AIeHR. UL 539 oflAeil usilotl 25U A2ell A2 wlod 241U, oiul Wldeiial Ayel udl vl 9.
d Yyell d(O dudl(save) (Bas s slgul 41 eeiid] A8l 8] wa udaiel Higtemi uisl 21dl 28l ¢\,

%l duIZl WA ay 518 usil Q1Y dl ul 53 genz@soas.ac.uk UR 8P 53 Weldl +44 20707 45146 U2 Whatsapp UR BHI Aus 3L,

40. duId] GRudH AailBLs/AldA1RS diusid g 82

(Select one option)

slesd

(Sudlul

ellds Guldl

ofellds ol uedl

slserd (50l

Ad 1S (SwlHl Had] (SA] (5ul s e 52)

000000

41. 9 dil suRY »eildl 222 vedl AR uidell s18% veidl Y[eAdR(E] Bal ay [Flail 1R -ususly Asid HIR ) 53 D7 (Select
one option)

O s«
O -u
O g usd el

‘ NOTE : Answer the below question only if answer to( ( Q#47is4k OR &l))

42, duIRl v(2)) o uWReM 2] ed? (2B dl2] uS 8 d vt U s s30)

(O s dlet Hoil

(O u wsfeled uR]
(O H1l 2199 sotdl 2ai 241l sl

43. duil dduiel A%21R Reuld 9f 87 (B dl2] U3 8 A vyl U s 53))

O uel-aumued [auell O adeausl

O «guilds diduui O afeal

O uel-umuedl -5 O Fgd

(O »iasifs AR O AR, uiq AU sl 2Dluui
O e/ des desAawar () QAR B, Uid slHeil 20luui «iefl
O e (gu1 592 we s)

NOTE : Answer the below question only if answer to( ( Q#43 is Jsa s/ A (ijsal Ja 2 OR AdAIRLS didlHui
OR iy ol aliiiul OR YRI- AHUoA ofl53] OR s oy alaiial

OR 22ASLES A%WUR OR sl 2./ hab o 51,11 OR UMM / 25 s AR

OR Juadlisa OR 2 A%UIEL OR Other

(Please specify)))

* 44, d elaui sUL QAU 514 52 81?2 (Select one option)

A 51Ge2eR], (531 Wa §loetledd
wIESR

QAU Wl 54 (€3]
DIEFARNERAET

UKl 56l A [SHIet

00000



O00000000O00O0OOOO0O0OO0

(2Ll

V) (5 (1 3 ) Noy s (321
U iael 249 5N

U513 W ox1&R Act 1)
A(Ss4

w([ded

Hiledl 2514l

s1El

AR, RUAIAM el UcllYet
IR

l(sul

Ao, 813 uA YRell
(Hasd 2 sy
CENIRNERIE R
R4

ULy S A0 4 Ad 124
URAEs el dl (% Resy
e (Ul 530 R 52)

NOTE : Answer the below question only if answer to( ( Q#43 is Jsa s/ i (ijsal Ja » OR AdAUIRLS didlHui
OR iy plai alsiiud OR YRI- AMYUeA] cllsil OR iy oy plasin

OR sL[Es AYWUR OR ol 2.9/ had o 51,11 OR HIUHL / f2s des AR

OR Jiiélisa OR ¥d AU OR s 44

OR 2|(&uil OR Other (Please specify)))

45. 9 dHA dHRL ddHlel cAdUIUH] «ls3lell Iy B? (Select one option)

S, GHL qHY

Ujuf o 61193 o
oL, [Megd &l

00000

&l uidday AR Elg s B
Y5 JUY, d W1 B WA U B

NOTE : Answer the below question only if answer to( ( Q#43 is 58/ i (ijsl Ja 2 OR AdAUL[AS didlui
OR iy ol aliiiud OR YUI- AHUoA oil53] OR s oy aliial

OR i2151[Es A%WIUR OR ¢ 2,50/ b o 51,12 OR HIUUL / @5 des AR

OR Juzdlisa OR ¥ A%UEL OR s 4ld

OR 2|[&sil OR Other (Please specify)))

46. duIZ] «ilsileil AN Q) AURA? (A1) el dHIM / 2lUell Uid U s 52)) [5Ul 53 U [Asedl ] ue 521.]

O sk upieelt
(O sld-2asi et
O et

(O Rerdlua yreil
O «@rAslsH
O
O
O

LR dyR)

yHLEY sl dldlal

GuYscuiell S16 -l

O didly 242 G Sl
O lyeluiederl

O auirnA xdlsld
O W& wdiwell

O ywsRluAdlel

O GuYsduiel 81 «ife

* 47. %) dil uie 53 28], dl duil qieel caau1d/sRI5E] 50l e9? (Select one option)

AIF AR

udaef] o IRl A6l 1A / SRISEMIE
W s1Geeal, A5l U §leyellod

O00000000

(Y Wa 54 [C2l

YRE WA WAl

Ul 561w [So1oel
(2Ll

V) (5o [ 3 ) Noy s (3oL
Uiael 249 5N



0000000000000 0O0O

48. 9] di s GHI-AISRUS W)? (Select one option)

@)
®)

U1 e 21 ER A A
A(ssd

S

i(den

Hifed] 2541l

51l

A2, RUAAUl e Ucllel
Hi3Ral

l(sul

Ao, A8 ua Yrell

(M sd w1 idsid

Rl el Histd A8t
Red

UMLES AL w4a Add1)
URAEs o dl [ Resy
U (§Ul 53 W 53)

el

sl

| NOTE : Answer the below question only if answer to( ( Q#48 is » OR ll))

49. 9] di G- USRS vleidl Wl dUIR] Uldlell AU A SCALUL ™ HRId] 91?7 (Select one option)

O o O st
O -u

’ NOTE : Answer the below question only if answer to( ( Q#49 is4: OR &l OR 44 OR $&1Y))

50. s GHIRAISRLS tloidll HI2 dMIRL HI2 YU USsIR ) 87 (B d12f US 8 d vl UR [2s 51))

000000000

CRURNEETETED]
Stlet ol A Lelell

(A Ae1d / [Adsndiel SR
Y1o(e2lel 4e1dl] HIolgelstell etlc

ECTRCCIETE AN
(da1 Aleeila

ay Aeeld

defly Aeetla

U (Ul 530 R 52)

‘ NOTE : Answer the below question only if answer to( ( Q#48 s+ OR &l))

51. s GHIRAISRLS toidll HI2 dMIRL HI2 YU USSIR 2] &dl? (B dl2] US § A «ul uR 25 5)

000000000

CRURNEETETED]
Stlet ol A Lelell

(Al Ae1d / [Adsndiel SR
Y1o[e2lel 4e1cl] HIolglslell etld

U sal dAlsadlell Ml
(da1 Aeeila

a4y Aeeld

defly Aeetla

U (Ul 530 R 52)
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%] i WIAAL Y U %l HIZ e 8], dl did se1 W2 il elwd sl el ul 530a Y8 U As 28l 53 w4 drd i Adagil Al i 3
dMal duIR wdiol 3dl 2a elud sl A w8Lasl,

Aludl el ugslefl Aig s2A
1] e ugdlefl Alg Avil" Yl Asetdlula wikls Ad Yol addl 44 Aluddl #4a uglell uisL widdl 2 9.

AsHv Yo AA-A] (A5 Uz (5as 530 23 8
1) uddlell slwd 53d saioilefl Alail s weldl
2) Deall astell ud scle] ulg Avil,



%ol Z Vol LlYleS ¥4

feidglel Z wal (G1les udaRHi eld1 Adl sied AIeHR. UL 539 oflAeil usilotl 25U A2el AA12 wlo 241U, olul Wldeiidl Ayel udl vl 8.
d Yyell dlO dludl(save) (Bas s slgul 41 eeiidl A8l 8] wa udaiel Higtemi uisl 21dl 28l ¢\,

%l dHIZl WA ay 518 usil S, dl ul 53 genz@soas.ac.uk UR AP 53 Weldl +44 20707 45146 U2 Whatsapp UR BHI Aus 3L,

[Qeilol 2: adwys

L Qe dA B A uugrdle] Uidet 53] 9] Bial/vieidl el tie] uldet 52 61 dstl [€sil Uil B,

52. 9 dil du1?l el Yei edl AilLs A »eiadl v uindl »eizdl diell 81?7 (Select one option)

O «
O -u

‘ NOTE : Answer the below question only if answer to( ( Q#52 is x5 OR «ll))

53. 9] di duIz] 2ndal wlleiui g Uleil &) (Select one option)

QO -tifxis (@ JELE Tl
O »suaidl QO wirafes
O ulblsgusdaaes)

54. ollofUBIHi dHa Wil u (uielel, (@, [@fE) @9 $1Q Mwaj? (@12) usd viy 2s)

O wla O AsHlde /NAUR / As€led Uiiolet / Hegsdlol WA
O [ O a-REd

O cleteldl HadiURARAL WA e (] A suR Wiedett 0wad i 3 2l wad i 241d] o sdl
O ural @ O a1 usq «tell

O uys/ayera wf adili Rlets

O we (Ul 5304 e )

55. dil «{lAeiiniell sl HIR2 clasld/qee- YN AUIRlS %<3 Ulsil 81?7 (Select one option)

»eell y1fds vl

o221 2d1/6521el el ] wadl S1sfl wedl Rl defly Airglds vlaw
ol

AY o] W3 o1&

Hal WolR otefl

00000

56. 9] dil da%ld/ygs-YM AHRIsH e UAR &AL 91?7 (Select one option)

O sl
O -u

NOTE : IF ANSWER TO Q56 is

&l Go to Page No. 7

sll Go to Page No. 8

If Did Not Answer Then Go to Page No. 7
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%) df AL YB U ¥l HI2 sAHe 8], dl dil se1d W2l wdlol sluid sal e9l gul 5309 y¥ U As 25l 52 e did PHi Adaril At il B
Aol dHR] dled 3dl fld elwe sdl A ¥RlLdsl,

Al A1 yeslell Aty s2A
1) e ugdlefl Al Avilt Yyl Asetdlala wifkls A Yol «ddl 32a Aluddl 1 uglell uisL widdr 2 9.

At Yo Q] (ds U2 (545 sl 2603 8
1) uddlel elwd 53d saloilefl lail s el
2) Sedl uxtell ud s2aiq ulg Avil,



%ol Z ¥{al LlAleS ¥4

ofeidelel Z wal (G1les udaRHi elo1 Adl ied wIeHR. UL 539 oflAeil Usilotl 25U A2el AA12 wlod 241U, itl Wldeiidl Ayel udl vepdl 8.
dR Yyell d(O dludl(save) (as s slgul 41 eleiidl A8l 8] wd udaiel Higteni uisl 211dl 25l ©).

%l dHIZl WA ay 518 usil Q1Y dl ul 530 genz@soas.ac.uk UR 8P 53 Weldl +44 20707 45146 U2 Whatsapp UR M1 Aus 3L,

57. dHRI AMIZM AU dHIR] GUR 3ed] edl?

58. duil dald/yes-yM [AfE S1Q 5317 (Select one option)

O HaAsp)
O HaurE

59. duR] Ul 3dl usiRell sidfld/qqe-YM AURle &dl?  (Select one option)

O Asalsad (@
O SR udl QAR A8 AHRlE
O wsuuRs

60. duIz] dlaxld/yoe-YM [ald sui saiui viidl sdl? (Select one option)

AR 5114 (12] §521el €lel/ l1al Medl ALBS
UPRRII / ALdRL ASAM / Yol 20 Hd ] dsll Helot
Ui (o] 286181

WLl 518/ Arsd2 &)

e (Ul 5309 R 52)

00000

61. dil duidl yoeld gadl wielotl (G 32dl a1z 53 ©) ? (Select one option)

O ihs O alfis
O uwilés O HrA v feaRluddn uR
O uifas O stl-le

O aduielslar

Page 7 of 10 ——
%) df BIAL YB U ¥l HI2 vAHe 8], dl di seld W2l wdlol elvid sal e9l gul 5309 Y8 U As 25l 52 e did PHi Adaril At il B
ddal dHR] el 3dl fld elwe sl A ¥RlLdsl,

Al A1 ygslell ALy s2A
i) el ugdlefl Alg Avilt Yyl Asetdlala wHilkls A Yol addr 32a Aluddl 4 uglell uisL widdl 2 .

AsM{lul Yo A4 [ds U (5ds 53 23 8
1) uédlell elwd 53¢ saiodlefl Aqlail 5 weldl
2) Beal uxtell ud s2aie] ulg Avil,



%ol Z Vol LlAleS H2d

ofeidelel Z wal (G1les udaRHi elo1 Adl ied wIeHR. UL 539 oflAeil Usilotl 25U A2el AA12 wlod 241U, itl Wldeiidl Ayel udl vepdl 8.
dR Yyell d(O dludl(save) (as s slgul 41 eleiidl A8l 8] wd udaiel Higteni uisl 211dl 25l ©).

%l dHIZl WA ay 518 usil Q1Y dl ul 530 genz@soas.ac.uk UR 8P 53 Weldl +44 20707 45146 U2 Whatsapp UR M1 Aus 3L,

‘ NOTE : Answer the below question only if answer to( ( Q#56 is » OR «ll))

62. di 324l dI2 uleisil 52 81?7 (Select one option)

2es

UlHLES

HIRLs

i elsl diR

dls

HIs Wi [eal/viol uR
s€laile

Q19 usq «iefl

00000000

63. 9j il @il uleieileil viel qu 1? (Select one option)

O e Qeed Q zeas Q yaed Q -lle

64. di wUBIYIL] / vild AsAH 324 dIR 21l ©1? (Select one option)

O ifs

O uwiles

O s

O aduielslar

O afs

O et v Earilpkid uR

O “RRURHEL WA ABRIRL / 2idl AsUH 25A S1U B, £l IR E AUBRILL /1l ASUH 1A il N U1 52 €
O sdldle

O HAuBR], /2idel AsM welsll urdl]] ofefl

O visu (gul 5314 we 1)

65. dil AMeLRSs Yo elleini 32l diR Yo 520 ©91? (Select one option)

tlis

AHIES

NEE

vy sl R

difls

Hist WA (eaRdl/uaN U

L3 URLHIZL UL AMelRlS Yol U0 WsAY €1 B, el.d. IR & Adl 22U letell YA1s3] 53 € 2l UIYelRS yaan el
s€lail&

Ha AHel RS Yout 22101 95 1of] URd1e1]] otef]

e (Ul 5309 R 52)

0000000000

66. ] dil 518 UL Yegel SlAEIvle] Uldel 5] 917

(6Ld. 2R Al wedl siuledl sIURilell [isiel sl dud, HIRLS Ald L1l weldl slneged U], Yy ALA As0n1dd Rdl%l) (Select one
option)



sl

ol

& egdletl S18UBL [l alds el
19, usd «tefl

0000

67. dil Yud qd ui (@9 3dl Aq 2Mvar (B 1o ud 9 A wul u [@s s3)
5

(-0

Hlds

(Rle1s) / uulRs (el

a-(aUfEd

Yud a4 134 ui 2ilwcl 3 eiluail =gl

000000

68. 9l A€lell ulauetl [glell g2t »eldl uilis dellell wsjcle 21 welelest sl w11d D, dUA 9 @13l D : (Select one option)

AYe1Aed] veell [Agledl /HIAS) <1l GUELl A1 Ydld &
HiR1 i (@Qsf] HIR] MuerHi qulR) 54l ©

HiR1  (@lsf]l HIR] mey 19 (AU IIRUML D

Hal WORR ofefl

@19, usd «tefl

e (Ul s3la e 52

000000

69. el uifls v1a Aixglds (@RI 1 YLzl dHIRL HIR 326l HedyR 97 (Select one option)

(RIARAN TSI

det HecdyRl

UM R HEYR]
ellg H&cde]

% ULl H&cde] «tefl

00000

70. 9 d HIols URAIR Hiell 61?7 (Select one option)

&l - 4R e HIAS URaRM ¢l &dl

sl- A HIAS sdeui @t sul

ol - § Astlot / UMY HIRRY dR]3 o] &dl
ol - N A5 AeLlot/AUMIA URARMI 41 5U[ D
Q19 usq «iefl

00000

NOTE : Answer the below question only if answer to( ( Q#70 is al sl iz ds 2isa 03 gild S5 2 (e OR
&l - HIRL %o HIAS URAIRUI 2] Sl OR al 52,8 £153)) disa o2l S5 b (s

OR &l - W IS §261Ui AU SUT OR ol s34l Lisdy 230 4 [ Cuige o 00

OR el - § Asglel / Al UIBIRA dF o2l Sl OR 1 / Ouig 231518 Sy by o

o 22571535 334 OR el - 7 A5 Aslol/AMIod URARHI 62 5L D))

71. 9] d WIASY/ HAUR / AelEel Uldelle ol dield dld] sdl? HIAs? (Select one option)

&l-§adR €

8l - & eldR-Hdw §

- & W5 AslUS HIAS © - HIAUR / As(eel UKo
el

@

0000

NOTE : Answer the below question only if answer to( ( Q#71 is aiu (Gl sse Sasia 4ls ) gk e AL OR &L - &
AAClIR € OR et ((outy o3a 4% sy Al ) iija - g5 (s -4h OR 81 - & elclIR-UcA6L

OR b gy (s [Jusise 0 4L OR €L - & s AGIUS

HIAS € - MR / QlelEet ULRioLLel ) )

72. 9 dil Ws2Rid HIAS / Aslus UGS ©1? (Select one option)

O &l & Ayl A BRI/ A1l ASAH el Yool RUIAH] 51 5 €.



O sl & uBRIRL/ videl AeiM weldl Yo el Ul -2leH siH 53 8.
O el §uriduld Sedls (Al 53 g, Geleal dil3, URAS/4sdle UHUIALOL eHULA.
O §ulsu sl -l

NOTE : Answer the below question only if answer to( ( Q#72 is aiS (- JS sk b skl Sy 3 g o by Ciyga 49 (Al
OR &, & B / vildl ASAM vield] Yosl 2llelHi UIZ-21oU 1M 5 .

OR Jus AT dady sl sy /W 4y 5 e cabd (oo aladl 1) pa) pa oG8 (ha cdly

OR &, ¢ WidNULd 3edls (At 55 £, GeleWL dF, URAS/Yscile AHUNIOL e,

OR 38 i Js 3 OR & W[E2A

sl otell, ))

73. 2L HI2 dA §6-218H HIAS el ? (dld] US d viHl U s 53))

aAleusld Ridl

2ol 216l 2 2cdAAcd 1) U Uldoedd)
URAR/UHIY d§ell evdlal

U eledl /4 2

YIRL el W5y sqlell 516 waslel «tefl

000000

U] (§UL 53] R 5RY)

74. dil sul el 3529 Uldel 52 ©91? (Select one option)

O sl QO dsdlu-usifed
O siudl QO dsdli-2 w€le/sudl/»rledl
O 2428 O Guysduiel Sl <&

75. df wuiedl sul wAdNl ofl Goyauil / wddlsel s 917 (B 6lof US 8 A el U s s))

O asur

O ws/we

(O wisu Sl widN
O e uRAl wridl
O Guysduiel s (&

‘ NOTE : Answer the below question only if answer to( ( Q#75 is kX OR 2EUIR ) )

76. dil el sl duSelR Gudl )/ wUddlsel s 917 (B @l US B A «ul U s 5)

SR (cdid Heal)
NeNou1dH (Hls-UHR / UHR wU-l)
AdetieH (@eiefle u1)
UALAH (Uldetell qH)

NURH ([[1A10LIel HEuH])
SHAULAYY / 5203l

O000000

A%

‘ NOTE : Answer the below question only if answer to( ( Q#75 is & <l /i Géa OR %L / UW) )

77. dd w el sl sg/ued Goydl gl/2ladl 61? (B eld] US 8 d wibl U Bs s20)

23] §3C(SIlet el SO / $(€e1 U0
8- WREIAGRILet / HR(EAY U6

% 81-3 WRELEAe / LRELE UG

8- (d3let / R ey

% 81-3) HHIRELEAA/HHRELE UG

o 31-3 A& cAdlet / AR U

8- HER / A& U

00000000

o 81-3 wldl /1Al U0



O ws-v weRALR U

O «s-R ot /3ue

O ovs-2 wgloist/olpie Wy

O a0 wiedne/ WelelRMe UK

‘ NOTE : Answer the below question only if answer to( ( Q#75 is K iyl ¢l culisa OR o sl Y20 ))

78. dd wHiell 58 el WA\ ol Goraril / vddlse 52 81?7 (B dl2] US 8 d vt U s s20)

ol

O

O daeor

(O seEel) ogerifea
O «s-v-ues
(O uleel Ads)
(O uys U2 quRle
O usvedes AR
O us-¥lgas
O Aze

(O uRAsIyudie

O e0012d-2 HILY-3cl® (328 UAdAR Y (dl (=)
(O 152 -3 24g)-3cll2Ud (322 UAAGR e [d)
O

= (5Ul 5319 W 51)

‘ NOTE : Answer the below question only if answer to( ( Q#75 is & (5l ¢l Cuulia OR oY sl LR{JH) )

79. dil SuetHi 8 Yua ulda »eldl ¥ Bl 32dl diz vl 81?7 (Wief-ull, WlR-A «i25], W3 elradlel, -3 [, WR-A A6l / US US,
Adl Ul?) (Select one option)

O [y 3as52 [eaud) R

O =Ry
O stldle

‘ NOTE : Answer the below question only if answer to( ( Q#75 is 53 sk s Cuulia QR ey AIEES] widil))

80. di wiuiell 58 uIRl SAeeeil Gwauil/ wddlse 52 81?7 (B cl2] US 8 d vl U s s20)

O gy MR, a1e wedl oeHi)

(O wlelet HlEeAl (el Hlssil eal Hint 245 [Ear))
(O yudle eax

(O Lual eqxil

O wa

(O vilRele Ald (38l d UUIGIR %oHEd)
og212d ofl (S| (%22 xd UAAR ofl Y[ (2
Y6l of dRY (*YEloll o ed’)

N UCERNCET

AHR] 2Rl 1o e ledy

00000

e (Ul 530 R 521)

81. di «ilAell YAdIla HRedlell 2 J26l 2i wdclsel 52 12
([Gra5a H2eildl «iefl Aeddl sl eilol- Rl iy Yucd »elldl Ad

(a) WY @) O @)
(b) @ @) (@) @)

(c) seHledrl o @) @)



(d) ollnsell %o

(e) 2oL/ YEdRIE) /08U YR (Eci

(f) ayauisl

(@) eiq Uslel Wleq

O O[O0 O|0O
O O[O0 O|0O
© 0|0 0|0

(h) dRildell

‘ NOTE : Answer the below question only if answer to( ( Q#52is4: OR ¢&l)) |

82. 9 dil uioy Wilell S8 R 3 uilis wellvile uidst 53 61?7 (Select one option)

O « O -u
O widlluid

‘ NOTE : Answer the below question only if answer to( ( Q#82 is 4k OR &l OR & céy A& OR widNuld ))

83. dil sul ey Rl vieldl HIlls ueliile ulde 531 81?7 (B @19 ud 8 A oibl R s s3))

O &

O uRen

O ©rdl

O g

O we (Ul 5304 e s)

Page 8 of 10 ——
%) dil BILAL YB U %l HIR2 sAHe 8], dl dil seld W2l wdlol siud sal e9l gul 5310 Y8 u As sld s 4 dld i Adaril A2 g2l @
ddal dUIR] el 3l fld elwd sdl A ¥RlLdsl,

AUl el ugsleil Alg s2A
i) e ugdlell Al Avil" Ylaul Asedlvla wikls Ad YLl §addl A4 Aluddl 1 uglell uisL uiddl ? 8,

AsM¥ Yo AA-A] (A5 Uz (545 53 23 8
1) u@dlel slwd 539 osaloileil qlatl s2A el
2) el waAell ud sqle] ulg Avdl.



%ol Z ¥{al LlYleS ¥

oidelol Z wal [Giles Adaiiui e11oL Adl Lied IEIR. §Ul 5309 olAatl Usileil A5 A2al A2 wallol WA, vttt wldeid) Ayel udl wuepil 9.
d Yyell dlO dludl(save) (Bas s slgut 41 eleiid] A8l ) wa udaiel Higteni uisl 21dl 28l ©).

%l duIZl WA ay 518 usil Q1Y dl ul 53 genz@soas.ac.uk UR 8P 53 Weldl +44 20707 45146 U2 Whatsapp UR M1 Aus 3L,

(el 3: adqul

L (et dridl dills e defly wilou w1 el el [@Aeil duiRl QIR WA dq1giludl @il usi 9.

84. 9] di duIZ] da wilsiii g Hisll 8): (Select one option)

U3l Brelad] (53el] driledlletl o1, 3 B2l @o1e9l g0 Hl Aglell
O »relladl/ S21edl el O ardui@aidz sﬂa LAl Sdl, MRAHT Aedl ol 516 2l Hi &
&dl)

821el (323l drttsdladlell iy, 3 B2l @orerdt aeH] uglell
AR 2R 5319 B edl, izl el oflog S\ patui () PACARRL (A5 Hidl (Ul H1A-A] A5 B p2elliell [ Satell 2ella]

22 O 2uat 5a1efl 2t uizal & 33 A5 2idt et 3 «tef])
Edl &dl)

O »u (sursild e )

85. dui?l deilu ilou duil 1R 32dl Heyei B ? (Select one option)

O éslagadsguid
O §slagaeldas s, ual Hecdsll 01121 8
O il 2ol eldatl IR A Hecds] el

86. dil duIZ] AMLFrs-uIfls vlawa 3dl AQ aeidl €1?  (Select one option)

O »yd O éer
(@RI

O e (gursild e )

87. %l duiz]l ulA uied(l S1A dl dil dHRL HI2 58 vildu [Ald vell uie 52207 (Select one option)

O viAsil/ 2lar 20l Alud
O uhrisk

O es

(@ JRETETERVEED)

88. dual 9 dldl 8 ? ¥ Yoy UHA Viicle 2| AR B? (Select one option)

O H ugletl Aleil (€A Qe (el s 2413 B A YAl 2id 2ifdu Ysiel uddi 2l weldl ARsHi Y B,
O dodlwtelllds 2eUniyetger U 8

O d2128

O 4 Ul 516 v Y 56 «lell

O HAuuR ]

O viou (gul 5314 e 1)

89. elidMi AI1He wa 221l dliell Hsisicy Rl did], (52A-3) Aoel A did 3] 3ld %l 617  (Select one option)

O ydsloe geeivild AldsiRis A 2 dgl-



O ydsioell Jedls AdelRs deeiid U 21a1Rd 2 UR1GLs did]
O ¥ysiud sieufes /1S dldl

O el [ suRy Aieioy «teil

(@ IR EITEERVEED))

NOTE : Answer the below question only if answer to( ( Q#89 is 41X salug, 5 AL @8 Cwag
OR 05101l t2etivile] Alds1RLs A A2 dRlel OR A ookl ¢ s bbad dasi bl

i A0 says; OR ¢dstosil 32dls AldstRs deetlxil U wIHLRd

WH-URAGIS didl OR bl / s Sls s

OR YUl sieufsis / URLERLS didl OR Other (Please specify))

)

90. duIl AiRglds wa UIbs vl U2 (5A-) Ao¥el 32 HEcdo D ? (Select one option)

O eiluscaddl
O eyl
O el el

91. UlRluet il (€AY Hsisicy, 2AlealNea di 3d] A %uil €17 (Select one option)

O st geerild Aldsfs 2a wdle agl

O ydslael 3edls AdelRs teiivd 2 2a1Rd 2 dR1GIs did]
O yslud sieufis / Q1S dldl

O el [ suRu uiew] «tell

O i (gul 53 e s2)

NOTE : Answer the below question only if answer to( ( Q#91 is 4 silug, 3 Al @8 duag
OR 6jdslieil t2etiile] NldsIRLs A A2 dRlel OR (Ax wsbul x @ bl dn s

was A5 skalys; OR Sdstoedl 3edls AldelRs aeeivil U 2iHLRd

WH-YRAGLS dld] OR blul / LLas s itiuls

OR ¥YRIudl sieufsts / WRL[@Ls didl OR Other (Please specify))

)

92. duidl Airglds wa uilfis 2Qlov W2 Alse11N 32¢ HEde] B2 (Select one option)

O el Hecadl
O eyl
O uewsl -l

93. 2R UIATs [Aaie) Geil e 8, AURAN Sleil iy Alell Hecayel Hisl ©1? (Select one option)

HIAS] 4ol £

2| [e15 A6etotl A1) (G4t HIAS))
Q19 usd «iefl

e (Ul 53l 1 52

0000

94. 9 dil Adl »eidl, A U 14 Hi @ sul D, Aua »2eadl il «ils13) 9)? (Select one option)

& 55d wid(AdlEld prelld] Yy2uila o eflsld §

& wid(AdlEld el Y2ul wal H]) vida 11512 €
& 516 widR(AdlEld »ead] 151 «tefl

Fcl6d of W 1Ydle] Ue

0000

95. 9] di AidAdadlld vilnsla 1511 ¥91? (Select one option)

¢ s5d widrR(AdlEld el Y2l sl sla o edlslD §

& HidlddlEld A2l Y] el H]) tdAetl 1015l 11515 €
& widRAddLEld «il S1SUCL Adletla el 51l o1efl

%I o W IUdlef URie

0000




NOTE : Answer the below question only if answer to( ( Q#10 is a) sa S glsa)) Ja 4 1) sl 3049 OR SURY UABUd
olefl OR ¢l s34 1:2 OR WAL OR 4l 4% £ 3k OR 921851 dlul

OR ) 415K 1 st OR [AHAL OR M fly a3 oo g

OR %dl0i ol IUdlef Uit A OR Other (Please specify)))

96. 9 di sldui iy 20kl 6L 81? (Select one option)

O
O -u

‘ NOTE : Answer the below question only if answer to( ( Q#96is4: OR &l ))

97. dil MlelR d3 sla 20kl 26l ©91? (Select one option)

O ui el
O »reladl wadl (G- Brefladl
O it [Bael- el

‘ NOTE : Answer the below question only if answer to( ( Q#96is4: OR ¢&l))

98. di doiiell HI2 3l A 20 $3A 817 (Select one option)

Wleld1eel $(221 Woyerdl welal A E2etell GUALdL S2dl
URUY sAAl HIR 5304 A [HA) U w112 AV
el Ay s/slesdldledl Gullal 520

U (§UL 5309 W 52))

0000

99. 9 dil dURL LLNSA el dild GAUL B, wetal dil slaui GB 53l 2ali 8], weldl iUl UGl WISl »eldl ddld GDellsll ool
87 (Select one option)

O sl
O -u
O i usd el

‘ NOTE : Answer the below question only if answer to( (Q#99is 4k OR €&l))

100. dHRL GNS(GIAS)) «il el uifls wa Aiglds GBI il ucsil/tell 9 st dead/s9)? (Select one option)

HecdyRl o451 - HRLdetlel / M1l elR AHstl Hl2l didletl ti(s 1A Airglds GBRe] AUlde 53D
HegH o151 - 2N Auetl HIfs w1 uisgds G wdietel] a1 1A

Yot (HSL - § Auell Hltetdledl difs wa Airglds GO 53 €

& Ridg W2 §

Q12 usd «iefl

e (Ul 53l 1 52

000000

‘ NOTE : Answer the below question only if answer to( ( Q#2 is s OR Hldl OR 3 OR [Udl))

101. 2] dHRl GBR Ws Helldl sl Vs (Cei- Reedl Hidl/[dl g1 &l &dl? (Select one option)

O s«
O -u

‘ NOTE : Answer the below question only if answer to( ( Q#101is 4k OR &l))

102. duil el Uilis wa Aiglds GHW, dHIRL [CGlet- 32ecdl ULdl/ [ g ¢yfist eiscl? (Select one option)

O el st
O usneust

O etdu st
O viou (gul 5314 e 1)



| NOTE : Answer the below question only if answer to( (Q#5is4: OR €l ))

103. »elll «ll [64e1- el Baeilell dil3, dil @lileis Heldl AYeldUi 32l Asldd 817 (Select one option)

Vo] % AS[Ed - ¢ [AUMAUD HI({5 WA AMHIPsS UM 2N d@ARIHT 61191 4G €. WHIR 8l »ec] (- B
AR A As(Ed - & UANULA HIETS A AHIErS UM 1A d8AIRIHI #1191 46 €. WHIRL 32dlS el (5] .
YolcdH AS[Ad - § 01190 o YIS 2N UHICES U 249 d@AIRIH] @191 46 €. HIRL &)SL Bl (-] .

As(Ad e12l - & SR HIATS A UHICrS SRISHL WA dRIHT #1191 Ac) stefl. 21121 51¢S el ] (1-A) o1l

e (Ul 53l 1 52

00000

‘ NOTE : Answer the below question only if answer to( ( Q#6is4k OR &l))

104. B uHI8l d 219116 »eell A18) Ay AT Sell, I d 2eUlels el AHe1aHi 324l sl@d €17 (Select one option)

U % Us[Ed - § [FAMAUS HI[TS 2 MH1RrS UL 2 dSd IR 6121 6B €. WU Rl 32l (FA) B,
AR A As(Ed - € UANUIA HIETS A AMHIrS YA 1A d8AIRIHT #1191 46 €. WHIRL 32dls el (5] 8.
YsicdH AS[Ad - § 01190 o YIS w1 UHICKS U 249 d@AIRIHI @191 4G €. MIRL &)SL Pl (HAA) .

Us(Ed ool - § URA UL WA YHICrS S1RISH) 24A d@IRIMT 61191 Ac) otefl. M1 16 el ] [Hs) <2l

W (Ul 53 W S3)

00000

NOTE : Answer the below question only if answer to( ( Q#103 is limgd L, alS o SSud Slaial 5 ad sl ol sida o Balbgy 2 Gy 4 (e - Ao Cuti 4y
a8 (S (55,5 OR oYoidH

islAd - & e119d o uIls 1 IS AN A d@1RHI @191 6B €. wHIRL &St »eedl (Al D.

OR 5 pulse 3 Bop - a3 Sy

Al 5|u5.\.’254j Co gl l—(?lswaﬂsﬂuﬁmé“’u..ﬂz\d W ol gidia

OF}I AslAd otell - § suRY HIGs e IS sRisH] 2 dSalRHi @l Ad) «eil. 1ML Sl Hredl2d] Fisl

atefl. ))

105. di 21l HI2 AYeIAHi wIHi w1691 veld] ASl5d 1efl? (B dld] uS § A wul uR 25 s2))

(O 0w g2 EA g1

(O ayerui W 2d191d «tell

(O HRLUIAS)e AHelHT 1L <2l
(O u2 uyelui 28] 5d ad i 2 el

O s (gu1 592 we s)

NOTE : Answer the below question only if answer to( ( Q#104 is (liwg La, alS 1o &Sd laia) g bl la olgida g Walbgy 3 Ut d (e - A Lo Cai 4y
pa a8 (355,5 OR eYoldH

sl@d - & e119d o "Ifls i AMIRES YA 31 AU e1191L 6B €. wH1RL eilst meildl [iHl 8.

OR 5 pual 0 2 Bp - dleasi da Sy

AN o) A gl b L A el CSHE Slada) g ake sl ol slda

op,z1 Asl@d otefl - & suRY UIfls v AMUES s1A5HL 2 ASAIRIHT #1121 Ad) elefl. wHIRL S el (-

aiefl. ))

106. 2L UI2 dX AYelAUi Bileotui w91 Belal WSl olell? (B ald] uS 8 d wbl uR s )

EUHREY

&d UYLIAH] HIB 2 121d o2l

HIRI W15l AHe AU 2191 otef]
Hal AHeIAH] 8515 A H] 2 «iefl

00000

U (§UL 530 R SRY)

107. 9 di) dMIRL 2115 »Refledl AYEIY, UYL A2L6e1 Weldl AYLIA 3og GRL URNEFA U], 8o w1 sRIlMi o111 € 81?7 (Select one
option)

ENUL- & sl WY € Heudl L35 §1%3] WU lof] Udeel 53 €

Rl dIR - & el WY € welal 25U deefl dy s1oR] AUl Yl 53 €

1A % - & Sl WY € wUdl SURS KURS Sl MUl YAl 53 6

1A % - § 55d (AN slsH) wedl s el w11y §

SKIRY AS] - § KURY sl A2l

e (Ul 530 e 52)

& .

000000



NOTE : Answer the below question only if answer to( ( Q#107 is alf CS b Al o aw b 2l 0 CSpd Sad 3 (- Aduad
OR &N2ll - & sl 1Y € Beldl e3sal s1%3] wlUdloil Ul 55 €9

OR S G )b Gl (San 4S L U a4 (o Ly oIS 0 S8 (04 = il

OR 4Bl dIR - & el%3] 1Y € wedl AsA A6l dy sll wiudlell YAl 5> §

OR piS &S0 a5 o b aS o0 S )b LSy <y diy a - o84S

OR @A o - & sl1%] UIY € weld] SURS SARS Sl Wiudiell Yl 55 §

OR i (o0 Syl (ald and o by Wl gy 2 hadh (- cjai 4y

OR @19 % - & §5dl [AAY siisH] vl siilui s1%3) w11y € OR Other (Please

specify)))

108. duRL eileis el sylad], syl AA A At werdl s11ye1d] Ave gl WURN A sl w16 Ugdail, oA WA §52leiall
USIRAUL dl 61191 6l 817 (B @1d] uS 8 d wul UR s s20)

A1 ofl dd(cl(Eu]) W §5Ut el Bldei / ugld uz 2eil@ls uduedl

otall aef] yclira 1 uidl (31 (SAoR) e ddlledl
™ dAHddefl Ug (el wa eesilA) ARY cl11RS) U161l s sH)
LGBTQ+ HI2+il 8dee

el s1AA

WIS HIR [RI[G4) 49 (]
Yalled Yud daeil 5] 1R Hle wa A2 / Ui s siisHl
Ry[356 / ML/ LRI/ 2802 20| Hed] el AYelRSs Aaldast

Ay 1/ ay 1uae]] teel) UYLl weRULdHE YR Hes scl HI2 Uyeld=Al usly

00000000

L[S Hlsa A Aed (5ol s Wlele 10l 8

O0000000o0B

U] (§UL 53] 1R 521)

NOTE : Answer the below question only if answer to( ( Q#107 is alf ©S)d alS o aw b 2l 0 CSd Sad 3 (0 - Aduad
OR &0all - & s1%3] vy € wedl e3sa 13l wiudieil YAl 55 €

OR 8 &S50 Gl fan 48 Ladl U a5 on (o by I8 0 S8 (- l2)

OR 4Bl dIR - & el 1Y & el AsY A6l dy el wiudlell Yel 5> §

OR 4l CS 30 a5 a au  alS o CS)d LSy <y aiy a - oS

OR G o - & el U § Wedl SARS SUARS S1%3] wludleil YAl 55 €

OR 4l (o0 58 Gald i ja by Wl gy o kB G - a4y

OR ®{12A o - & $5d [AAY sRisH) weal srilui s1%3] w1y § OR Other (Please

specify)))

109. i1 uq v, sidsHl e siilui el Aal (@9 dua g 21l 97 (B @12 ud 9 A wul U s s3))

U1 Hiqetnt odld] eusdl Meldl UuRld dall uéla 1Rl dxgldell
AR 53

AYe Aol WIRLSeA] wleie HILD

O w242 arlel Guanl] wa saas O

A Us YY1 118 )s1Adl Eldlef] do1el

ol daquil eflwdl AY Aol AR A8 Aeleey(d / dIRfl- 1> URWA

YRI5 BR1ER AU el dHa AYeld A1 UG Ad]

Detied 52l HIRILAIRg[AS ddel U1 URRIdAL/ W11+l 1a13f]

0000

old| dls] A8 Yalsld el AN AN2dlsf] @121 wsfeic)

00 000

U (Ul 5309 R 52)

NOTE : Answer the below question only if answer to( ( Q#107 is alf CS b Al o aw b 2l 0 CSpd Sad 3 (- Aduad
OR &N2ll - ¢ sl 1Y € Beldl £3sal S1%3] wlUdlell Ul 55 €9

OR S G )b Gl (San 4S Lo U a4 (o Ly oS 0 S)8 (04 = il

OR 4Bl dIR - & el%3] 1Y € wedl AsA A6l dy sll wiudlell YAl 5> §

OR piS &S0 a6 o b a0 S )b LSy @By diy p - o84S

OR @A o - & sl1%] UIY € weld] SURS SARS ©1% Wiudiell Yl 55 §

OR i (o0 Syl (ald and o b Ralaygy 2 badh (a - cjai 4y

OR @19 % - & §5dl [AAY siisH] vl siilui s1%3) w11y € OR Other (Please

specify)))

110. v ugrad), siisHl 21 siifui oot dal (@9 dHa 9 «ituie 87 (B a1y ud 8 A wul U s 52)

¢ 530t A (o) A 121 6B §, s Aeld AD A4Sl (T U wadid q1dl 8/ § S1R 2 €l5) 531 U1 ej@id €

& 5164 os@Ld] w1efl 3 516 (et otefl / Ha WE2Ld €13 B (O uRL D], detaiel wedl slnsla Host stefl widd], 3 $eloll 414 8
IR U qMA S 5 <l O it et el Hidl/[Udla sios] wiudie] g el

82 W §520eU HIRe] R YIS RAIUR W 2 ® ([ HRIL dotulell, astilell Maudl (1Sl sl Aiudle] Hogil «tell

R E G € AR HA wlsie, Ad) o] O Guysduiel s i€

U w1ds 1«2l @1l

0000000

U (Ul 530 R 52)




NOTE : Answer the below question only if answer to( ( Q#107 is aS i cS,& K e - Ka OR SURY o1& -
& SURY 1w ol ) )

111, d 21 HIR2 21 g, srisHl e sRilH suRy 6101 Al iell? (B @] us D A oiul Uz [Bs 530)

¢ 5301 WA (o) A 112166 9 AUs WelI WA AS] ([ HA widsld el dloid
& 5164 QL] w1efl 3 516 (1At otefl / Ha WE2Ld €13 B (O u ma211d @13 B/ § 1% iU €18 5cll WAL wefeid] €

)

HIRL R uMA S 5 <l (O HMRIURARA v otell 11ddl 3 s2lon 241d

O

O

(O odce AA 5520 HI2e] WA YAIS SALHR W 62 B (] HIRL [Gst- el Uit l/[Ud 1Al 1%3] 4 1uctisf] Hogdl w12l

(O RIRE MG & AR UA Blele, Al w12l O uRl DA, Wil Hedl dinsla sl #iudisfl Hogd «iefl
O

e (§UL 530 e 520)

112. 9j df uAusiZl sl A queled w4l 812

(cufidud wRiailud SURY «lf&
(a) &w@AAd] gRIHR AHA 1ot 52 § @) o (@)
(o) & Aloj elet 53 69 O @) (@)
(€) USR] tlot 53 € - VRIS / SUSI/ el / 3o A3 @) o (@)

113. di sUL USIRell UAUSIZ] 5180 HI2 &lel 52 ©9)/dA ANd ©91? (Select one option)

O »reldl sl QO A
O (st melrdl s Q) Auief A3 elfe

114, di Bkl AYelAsil AUIUR v HIlEd] suiell Aacl 817 (B @1d] uS B A vyl U s 520)

(O uiuridid AYeld 2WelR weid] MRS O 3uas/oelam
(O sl 210t - gdot / (el / usleflzil O dleualu/2@um

(O el s1yfA2] A @AAA Aoiise /Y@ (] Yol /ulssie

O e (5ul 53 e 52)

NOTE : Answer the below question only if answer to( ( Q#114 is 4sala i 4laa L 4alijs, OR UURAALd
AYLIY WUIR el HIM[AS))

115. q el su1 wwei) W AR didl 917 (&1S Sl vl Bledlee)

osiH- -1 Qe

O

O urdleisxd

O wluuwl

O 2wekele qHUR
(O 3istiosela

O Rwe

O Guysduiel 518 «ile

116. disl oflon AHIYIR suiefl HA 87 (B c1d] uS B d wul U s s20)

21[eAS YHeLAeAL HHAIR) (1S S 281l 2)eid 161
UVNY HWGIR) (SL1S 51U 22id | B\eteleSet)
WIdRATIL WU (615 SIU] el wlsidl6e1)
A

BCICREERIEIE

ool

O000000

S NCERHIS



Page 9 of 10 —
%) df BAL YB U ¥l HIZ sAHe 8], dl di seld W2l wdlol elvid sal o9l gul 5309 y¥ U As 2ld 52 e did PHi Adaril At g2l B
ddal dHIR] dled 3dl fld elwe sl A ¥RlLdsl,

Al A1 ygdlell Aty s2A
i) e ugdlefl Alg Avilr YUl Asetdlala wHikls A Yol addr 32a Aluddl 1 uglell uisL widdl 2 .

As{lul Yo A4 [ds Uz (5as 53 23 8
1) uédlell elud s3a saiodlefl Aqlail 5 weldl
2) Beal uxtell ud s2aie ulg Avil,



%ol Z Vol KlAleS ¥4

oidelol Z wal [Giles Adaiuui e11oL Adl Lied wIeIR. §Ul 539 olAatl Usileil A5y A2al A2 wellol WA, vttt wldeid) Ayel udl wuepil 9.
d Yyell d(O dludl(save) (Bas s slgut 41 eleiidl A8l 8] wa udaiel Higtemi uisl 21dl 28l ©).

%l duIZl WA ay 518 usil 1Y, dl ul 530 genz@soas.ac.uk UR AP 53 weldl +44 20707 45146 U2 Whatsapp UR M1 Aus 3L,

117. 9 dl suRU Aeeildeil AHeAl sil 87 % AU S1U d, sUl SRENAR? (B @19 U3 B A wul U2 Bs 52)

(@a1 O wadl
] 3 :a
GHR O -

dla ey (J el [Gagd o8l

qefly age

000000

U (§UL 530 W SRY)

‘ NOTE : Answer the below question only if answer to( ( Q#117 is cui> OR [?‘Pl) )

118. duRL (@il SRYL ddal sui Aeeildedl Alell 2] usAl 87 (B @] uS & d vidl U s 53))

QeiBls UM 2122 52l dwd

)

SMUR
elxdlye @a/difs AR (J dMilys Adil U2 2129 53] dwd
Lo S YA AL O sEAaut sluel
Al UYLl 2ie O sluslsla wisdui
AMLCs NovldsiHi O HENw/As dlet HI2 122 52cdl cvid
O

o153 HIR #R% sl dwid S1Elell MUE5Q1 418 dldAld scdll dwd

0000000

U (§UL 53] WE 5RY)

‘ NOTE : Answer the below question only if answer to( ( Q#117 is ¢x2 OR *-lH') )

119. duRL Yl 5123 di s4i Aeeticeil AHeil s3] 82 (B @19] U3 D A vinl U Bs 53))

Qei(Bls AreUMi 212 52cdl dwd

O

SMUR
elxdlye @a/difs AR (J AuMilCys Adil U2 2% 53] dwd
L0 S YA AT O smaet sluel
el ALl 2ieR O sluslsla wisdiui
AMLCs NovldsiHi O HENw/As dlet HI2 122 52cdl cvid
O

alls3] HIR w1 sl dwid S1Elell MUE]5QL 418 dldAld scll dwd

0000000

U (§UL 530 R 5R1)

‘ NOTE : Answer the below question only if answer to( ( Q#117 is o« AND GHR))

120. duidl GHA s1RQL dil sui Aeeticed] AtHeil 58l B2 (B @1d] ud D A wul U2 Bs 53))

Qei(Bls AreUMi 21%) s2cdl dwd

O

EARTES
el ye @a/difs AR (J AuMiCys Adil U2 2129 53] dwd
AL Y YA AL O smdauet sluel
el ALl 2ieR O siuelsly slisdmi
HHICys AorlaSIHi O HENo/As dlet HI2 122 52cdl cvid
O

alls3] HIR #R% 5l dwid S1uElell WUE5QL 418 dldAld 5cll dwd

0000000

U] (§UL 53] R 5R))

‘ NOTE : Answer the below question only if answer to( ( Q#117 is s Gl & OR Ay B[F121H ) )




121, duil 8615 U EAHA 51RQ) dHa sui Aeelicedl Atk s2c) usdl 82 (B 1oy us H A vibl U Bs 53)

O

SIH U2
el yon 2001/ wifls AR U2
GIERIEEIO LT

el Uyeldedl vieR

AMHLss QarlasiHi

O
O
O
O
O

ol 53] HIR 2R 53cdl dwid

0000000

U (§UL 530 e 520)

Qei(B1s AeUMI 2122 52cdl dwd

UHLPrs Ad A HIZ 2129 53l dwld
gLl s1Uel

SIAELSIA sleddlMi

1 E3Neg /s ot HIR 3422 $2cdl dwd
stgloll WUl s A1 dlddld sl dwd

‘ NOTE : Answer the below question only if answer to( ( Q#117 is s s £OR defly ¥ ))

122, duRL doild ela $1RYL dual sui Aecilcell Aol sl usAl 82 (B d1d) U3 8 A vlul U Bs s1))

O

SIHUR
el yon 2101/ 1ifls AR U2
GIERICEIR LT

el Uyeldedl vieR

AWMLy s NovASIHi

O
o
O
O
O

ol 53] HIR 2R 53cd] dwid
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SIAL1S1Y wlledlul

1 E3Neg/Als Elot HIR 342%) S2cdl dwd
s1Aglell HHA5L U1 dlddld sl dwa

‘ NOTE : Answer the below question only if answer to( ( Q#117 is aus s OR WUldl))

123. duidl [Asdidldid 5161 di sui Aeeildedl Aluedl 51l 92 (B d1d) ud 8 A vyl U s 53))
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‘ NOTE : Answer the below question only if answer to( ( Q#117 is cwg S, OR 331))

124. duRL dlell SIREL dUa 541 Aelideil AlMeil sl USAL B2 (B 61d] US 8 A wul U s 5)
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slAelell U581 A18 dldAdld sl dwd

‘ NOTE : Answer the below question only if answer to( ( Q#117 is i OR ellH ) )
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‘ NOTE : Answer the below question only if answer to( ( Q#117 is Other (Please specify)))




126. 3o SRRIU dMal Ui Aeelldeil Alell sl USAL 82 (B €12 U3 8 A eiul UR [Bs 5)
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| NOTE : Answer the below question only if answer to( ( Q#9 is Gay / Lesbian OR Bisexual OR Other (Please specify)))

127. di duRL Adly 246214 (A2 32l viedl o:
Ayeiudl vieq Wil3s Ad ved 8 [G1a56 vyeq oefl 5&dls] Ui olefl
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O sl sldsia O »reladl (548l u1a «illdeu
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129. duiRl 4q, el ui wa S2usil/uiRAl/suel deily Aiglds wlav 12 el 12l wddl 9 97 (lell ay d1d) usdl 3 uldAulel Al s
53) [5Ul 539 ayui ay 3 [Asedl uie 53.]
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130. AYeIUHi Adcid) A dd 3c] Ad aglei2il, 3 Auil Ayelani 3dl A AdsR Ui B (¥redl ool F di B Ulsil ) A Sldl A ?

G 1ol (EEY) wWRAW Vol % WA oIR olef]
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131, uyelUell MLAA HwoLd $2dl HIR ollAeiiHiell su1 URKONA dA Alell ay Herayel Uil 8)? (Select one option)
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132, AYeldeil MLlda Hawoyd scl HiRell dHIR] (AR 3l 2ld wid &g 2 d Judl,

133. 2% di oflstiuiefl sl Alell uecayLl AlFds Yl Uikl €12 (Select one option)
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